Dec-MulDiv-L1 Setl!

Question 1 [25 marks] Question 2 [25 marks]
00 1.7x.7=1.19 0 .6x14=.84
:12x9=__ 1 .9x.3=
2 4x21=_ 2. 1.0 x 1.8 =
321x16=____ 3 1.2x20=
4 11x8=_ 4: 1.6 x 1.4 =
5. 9x1l=___ 5 1.6 X .7 =
6: Ax2=__ 6: .Hx1.7=
7221 x14=______ 7. 1.hx1.1=
8: 1l6x 4d=___ 8 .6 xX.7T=
9 1l6x4=___ 9: 1.9x 1.8 =
10: 20x16=____ 10: 1.3 x1.8=
1m: 13x20=___ 1: .1 x 1.3 =
122 11 x20=___ 122 1.8 X .9 =
13 .0x0=___ 13: .4 x1.9=
4 0x1l=_ 14: 2.0 x .1 =
5: 14dx15=___ 15: 1.0 x .7 =
6: 20x11l=___ 16: .0 X .3 =
1 0x10=___ 17: 1.9 X .5 =
18 2X 7= 18: .3 X .2 =
19: 18X 6= 19: 1.6 x 1.9 =
200 1.0x19=___ 20: 1.9 x 1.8 =
21: 1.3 x12=___ 21: 1.0 x 14 =
222 1O x1d=___ 22. 1.7 x 1.1 =
23 6X0=___ 23: 1.8 x 1.1 =
24: 1.OXx0=_ 24: .1 x.1=
25 9X 9=___ 25: 4 X 4=
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Question 3  [25 marks] Question 4  [25 marks]
0. .bx.1=.05 0 1.9x.2=.38
L 14dx17=_ 1 .9x14=
22 13 x0=___ 2 4x 4=
3 6x20=___ 3 2.0x.9=
40 Ix17T=_ 4: 4 X 2=
516X 3= 5 1.7x 14 =
6: 6Xx.9=___ 6: .7 x.1=
17Tx1l=_ 7. 1.8 X . 7=
8 2X 7= 8: 1.2 x .6 =
9 14x18=___ 9: 20 x .3 =
10 1.8x 8§=__ 10: 1.8 x1.5=
1m: 9x18=__ 11: .6 x 1.0 =
1220x16=____ 122 1.2 X .6 =
13 1x20=_ 13: 1.2 x 1.7 =
4 0x21=_ 14: .1 X .8=
5 3x18=_ 15: 1.5 X .5 =
6: 1.3x 7= 16: 1.3 x 1.1 =
17 15x20=__ 17: 2.0 x 1.9 =
18 0x19=___ 18: 2.1 x 1.7 =
19: 6x20=___ 19: 1.7 x 4 =
200 A X d=_ 20: .9 x 1.0 =
21 9X 8=__ 21: .1 x .1 =
222 I3x12=___ 22: .3 X 2.1 =
23 2x16=__ 23: .3 X .8 =
24: 19x 4=__ 24: .7 X .0 =
25 1.O0x11l=__ 25: 2.0 x 1.1 =
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Question 5 [25 marks] Question 6 [25 marks]
00 1.3 x1.7=2.21 0: 2.1 x1.8=3.78
L 15x0=_ 1 .8x 1.3 =
210x11l=_ 2. 2.0x 19 =
32 17x21=_ 3 1.3 x.9=
411 x20=____ 4 1.0x1.2=
5 20x13=____ 5 1.7x 14 =
6: Ix1d=__ 6: .1 xX.3=
7. 8x13=__ 7. 21X .7 =
8 1.0x1.7=__ 8 20x1.1=
9. 6x1l=___ 9: .2 x 1.7 =
10: 14x12=__ 10: 1.8 x.9 =
m: 3x13=_ 1: 1.9x1.0=
122 8x1bh=___ 122 2.0 X 4 =
3 9x1ll=_ 13: .7 x0=
14 18x14=__ 14: .6 X 1.6 =
5 6x1dHh=__ 15: .4 x 0=
6: 19X 3= 16: 1.5 X .5 =
1m 3x21=_ 17: 2.0 x 0 =
18 11x0=_— 18 1.3 x 1.8 =
190 9x0=__ 19: .8 x 1.4 =
200 16 x16=___ 20: .9 x1.1=
21: 1.9 x 2=___ 21: .8 X 1.5 =
222 1.6 x19=____ 22: 1.1 X .8 =
23 1ldx 4d=__ 23: .2 % 1.0 =
2%: 6X.O=___ 24: 1.8 X .1 =
25: Ox 1=__ 25: 0 X 0=
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Question 7 [25 marks] Question 8 [25 marks]
0: .0 xX.9=.45 00 1.6 x 1.2 =1.92
LA4AXx2=_ 1: 20x19=
2 Ix4d=_ 2. 8% 1.6 =
32x21=_ 32 0x.3=
40 4x20=__ 4: 1.6 x 1.0 =
5 16x16=__ 5 .8 X 1.5 =
6: A x12=__ 6: .9 xX 1.8 =
72 3x12=_ 7. .9x 14 =
8 1.0x18=___ 8 .6 X 1.8=
9. 15X 3= 9: 0 X .7=
10: 21 x 5= 10: 1.1 x14=
1m: 21x10=___ 1: 1.hx21=
122 6Xx3=___ 12: .7TX .5 =
13:12x2=_ 13: .1 x 14 =
14: 20x 1= 14: .3 x.9=
5: 11 x 9= 15: 1.0 X .5 =
6: I x13=__ 16: 2.1 x 1.2 =
m I9X (= 17 Tx 4=
18 1.8x0=_— 18: 1.5 X .6 =
19: 12x 6= 19: 1.3 x 1.7=
200 6Xx.1=___ 20: 1.7 x 1.8 =
21: 3x19=___ 21: .8 X 1.7 =
222 20x 9=__ 22: .9 X 0=
23: 12X 2=__ 23: .9 X 1.7 =
24: 1.Ox13=_____ 24: 1.0 x 1.9 =
25: 1.2x15=____ 25: 1.9 X .2 =
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Question 9  [25 marks] Question 10 |25 marks]
0 .8x22=1.76 0: .2x99=1.98
L 13x8=__ 1 1.3 x10.3 =
22 18x7H5=___ 2. .4 x9.7=
3 IX7D=_ 3 .8 X 8.7 =
4 1.Tx27=___ 4 1.3 x .5=
5 1IX8=_ 5 0x23=
6: I XxT76=___ 6: 1.3 X .2 =
7:13x38=___ 7. .6 x 2.5 =
8 1.8xbl=___ 8 1.2 x .8=
9 Ox0=_ 9: 1.1 x3.9=
10 7T x28=___ 10: 1.5 X 8.5 =
m: 1.7x1l=_ 11: .8 x99 =
122 14x66=___ 122 1.0 X 9.7 =
13:10x61=___ 13: .7 x 104 =
14: 15x90=__ 14: .2 x 9.0 =
5: 0x 9=___ 15: .3 X 5.1 =
6: I x13=__ 16: 1.8 X 10.8 =
17: 12x98=__ 17: .6 X .5 =
18 6x63=__ 18 0x .3 =
19: 1.3 x98=__ 19: .6 X 6.3 =
200 0x256=____ 20: 1.4 x 1.8 =
21: 1.3 xH50=__ 21: .7 X 8.7 =
2 AX 6=___ 22. .4 %x9.1=
23 1.0x100 = 23: .8 X 10.7 =
2%4: 2x50=____ 24: 1.7 X 6.5 =
25 AXx107=__ 25: .2 % 1.3 =

019 7 September 2014 5



Dec-MulDiv-L1 Setl!

Question 11 |25 marks] Question 12 [25 marks]

00 1.1 x4.7=5.17 0. .6x7.9=4.74
LT x12=__ 1 .2x5.1=
22 15x82=__ 2. 4 x82=
32 17x22=__ 3.7 X 6.8=
416x101=____ 4: 1.6 x 2.2 =
5.0x101=__ 5 1.0x7.7=
6: 1x48=__ 6: 1.3 X .6 =
7. 9%x40=___ 7. .0 %X 8.1 =
8 1.8x60=__ 8 .0 X 2.7 =
9 1.7x33=__ 9: .9 x 88 =
100 1.2x106=___ 10: .3 x 10.6 =
1m: Ox95=___ 1: .1 x .6 =
12 1.7 x3 7= 12: .1 x10.0 =
13 5Ox103=__ 13: .4 x 6.3 =
14 19%x91=____ 14: .8 X 8.2 =
5 OXx0=_ 15: .6 X 3.8 =
6: 0x90=___ 16: 1.8 X 1.5 =
1 11 x105 = 17: 1.2 X 9.5 =
18 6x103=___ 18: .6 X .9 =
19: 1 x68=__ 19: .7 x.1=
200 1.9Xx68=___ 20: .D X 9.1 =
21: 1.2 x79=___ 21: 1.7 x 4 =
222 OX92=__ 22: 1.9 x 1.6 =
23 1.8 x80=__ 23: 0 X 8.6 =
24: 16 x84 =___ 24: 1.4 x 10.0 =
25: 1.7 x23=___ 25 .7 X 6.2 =
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Question 13 |25 marks] Question 14 |25 marks]

0: 1.0 x 7.5 ="7.50 0: 1.6 X .6 =.96
:14x49=____ 1 .3x9.1=
2 3%x29=____ 2. .2 X 2.6=
32 1.7TxbH5=___ 3 1.8 X 6.9 =
4 14x84=___ 4: 0 x10.5 =
5 8XT73=_ 5 1.4 x6.6=
6: 1.1 x6.7=___ 6: 1.ox14=
7213x92=__ 7. 1.8 x24 =
8 AIx1b6b=___ 8 .9xH9 =
9 3x18=__ 9: .2 X 6.6 =
10 3x61=_ 10: .8 X 9.8 =
1m: 6x78=___ 11: 1.9 %x9.0=
122 14x75=____ 12 1.1 x .7 =
13: 19%x36=___ 13: 1.bx 59 =
14: 8x65=__ 14: .7 x 1.6 =
5 3x62=___ 15: .8 X 2.7 =
6: HDXT79=___ 16: 1.2 x2.0=
1 6x86=___ 17: .8 X 6.7 =
18 1.7x96=___ 18 1.7 x7.1=
19: 19%x59=___ 19: 1.0 x .8 =
200 1.7x26=___ 20: .9 X 5.4 =
21: 14 x62=___ 21: 1.1 x 1.8 =
222 1.OXxH0=__ 22: 1.1 X 8.0 =
23 1.3 x64=____ 23: 1.0 x 7.2 =
2%: 3X38=__ 24: .9 X 8.5 =
25: 1.0xbH=___ 25: .7 X 3.5 =
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Question 15 |25 marks] Question 16 |25 marks]

0: 1.4 x9.7=13.58 0: .2 x7.5=1.50
L. 8Xx83=__ 1.3 x29=
250x18=___ 2 1.6 x 54 =
311 x26=___ 3.4 x4.5=
4 1.7Tx60=_____ 4: .5 x 10.8 =
5 16x28=__ 5 .0 X 2.0=
6: 1L9x3.7=____ 6: .3 x 1.4 =
7219%x24=__ 719 x 3=
g l6x1l=___ 8 O XT79=
9 13x58=___ 9: 1.6 x 5.0 =
10: 16 x71=____ 10: 1.1 X 6.7 =
1m: 12x62=___ 11: 1.4 %X 2.6 =
12 1.7 x84=__ 122 0 X 7.6 =
133X 8= 13: .9 X 8.7 =
4. .ox100=___ 14: 1.0Xx 1.8 =
5 4x9 7= 15: .3 X 8.5 =
6: 1.1 x108=__ 16: .7 X 5.6 =
1 8x1ld=_ 17 3 x 4.2 =
18 1.7x108=___ 18: 0 x10.2 =
19 1dx 4=_ 19: .8 X 9.9 =
200 1.7 x44=___ 20: 0 X 8.4 =
21: 9x21=__ 21: 1.5 X 8.9 =
222 1.3 x26=___ 22: .H X 8.4 =
23 8X83=__ 23: 0 x 4.4 =
24: 1.7 xH58=___ 24: .1 X 9.7 =
25: AXT76=____ 25: 0 X 8.6 =
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Question 17 |25 marks] Question 18 [25 marks]

0: .16 x .98 = .1568 0: .04 x .88 = 4752
L 1l4dx62=_ 1: .38 X .91 =
2 80x.29=__ 2. .44 x .73 =
32 0T x 8= 3. .57 x .04 =
4:109%x.92=___ 4: .70 x .10 =
5 61lx.16=___ 5 .30 X .85 =
6: 1.07Tx H8=___ 6: .06 x .47 =
7..03x.050=___ 7. .46 X .94 =
8 24 x Al=_ 8: .09 x .95 =
9 44x93=_ 9: .7H x .42 =
10: 42x.6l=___ 10: .41 x .35 =
m: 117 x 115 = 11: .08 x .19 =
122 . 03x.959=__ 12: 1.11 x .15 =
13: 63X .= 13: .46 x 1.18 =
4. 06x 94=__ 14: .33 X .19 =
539 x 0=__ 15: .85 X .23 =
6: 1.13x1.04=___ 16: .54 x .07 =
17 110x 27 = 17: .26 X .25 =
18 02x 34=_ 18: .93 x .74 =
19: 89x 45=___ 19: .93 x .17 =
200 112 x 77T=___ 20: .19 x .09 =
21: 07 x.96=__ 21: .88 X .35 =
222 37T x.16=___ 22: .95 x 1.02 =
23 88x 30=__ 23: .35 X .b8 =
24: 1.14x 58 = 24: .87 x .29 =
25: 02x119=___ 25: .93 X .84 =
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Question 19

0:

1:

10:

11:

12:

13:

14:

15

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

.60 x .40 = .2400
.86 x .75 =
37 x .04 =
28 x .04 =
34 x .07 =
A7 x .93 =
. 1.15 x .63 =
. .86 X .95 =
: 1.06 x .67 =
38 x 1.03 =
32 x .87 =
05 x .21 =
29 x 45 =
20 x 1.08 =
97 x .19 =
- 1.18 x .03 =
35 X .97 =
76 x 1.03 =
.83 x .66 =
A8 x .50 =
74 % 1.03 =
98 x 1.03 =
20 x .77 =
24 x 41 =
.66 x .39 =

81 x 91 =

25 marks] Question 20

0: .06 x .12 = .0672
1: B8 X 43 =
2: .02 X .39 =
3 .67 X .82 =
4: .33 x 42 =
5 .10 x 1.15 =
6: .98 x .50 =
7. .46 X 46 =
8 .22 x .11 =
9: .01 X .95 =
10: .04 x .66 =
11: .03 x 1.14 =
12: 1.01 x .38 =
13: .h3 X .93 =
14: .09 x .25 =
15: .45 X .94 =
16: 1.03 x .36 =
17: 1.14 x 87 =
18: 1.16 x .86 =
19: .78 X .72 =
20: .10 X .35 =
21: .46 x .12 =
22: .18 X .33 =
23: .87 x 1.15 =
24: 43 x .28 =

25: .b4d X .33 =

25 marks|
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Question 21 |25 marks] Question 22 |25 marks]

0: .88 x .91 = .8008 0: 1.08 x .56 = .6048
.38x.15=_ 1 1.18 x .26 =
2 8dx 1l=_ 2. 1.08 x .61 =
3 .99x82=__ 3. .20 X 1.08 =
4 Mx70=__ 4: .30 x 1.00 =
5 9%x 89 =__ 5 .90 x .37 =
6: 21 x100=__ 6: .61 x .46 =
7..63x101l=__ 7. 1.00 x .82 =
8 O0x59=__ 8 .98 x A7 =
9. 84x.03=_ 9: 1.11 x .32 =
0 17x0=__ 10: .23 x .07 =
1m: 114 x 8=__ 11: 1.01 x .94 =
122 .20 X B7l=__ 12: B3 x .14 =
13: . 86x.6l=___ 13: .40 x .02 =
4 73X 18=__ 14: .23 x 1.07 =
15 .03 x11b=__ 15: 1.02 x .30 =
16: 1.06 x 69 =__ 16: .31 x .80 =
17 10x 18=__ 17: .30 X .93 =
18 06x 61l=___ 18: .11 x .01 =
19: 29x 6l=___ 19: .98 X .55 =
20 1.04x119=___ 20: .H7 X .92 =
21: 1.01x 04 =__ 21: .66 X .63 =
222 22x102=__ 22: .95 X .60 =
23 96X .7T2=__ 23: 1.03 X .52 =
24: 83 x.92=___ 24: .29 x 42 =
25: 10x.29=___ 25: .67 X .94 =
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Question 23

25 marks] Question 24

25 marks|

0: .86 x .18 = .1548 0: .34 x 1.02 = .3468
1: .80 x .81 = 1: 1.16 x .26 =
2: .19 x .80 = 2: .74 x .60 =
3 .63 x .90 = 3 .30 x .27 =
4: .84 x .51 = 4: .52 % .32 =
5 .07 X .77 = 5 .62 X .28 =
6: .82 X .71 = 6: .01 x 1.10 =
7. .77 x .70 = 7. .49 %x 0=
8 1.18 x 1.15 = 8 1.13 X .66 =
9: 1.09 x .21 = 9: .99 x 1.06 =
10: .28 X .37 = 10: 1.02 x 1.12 =
11: .49 X .26 = 11: 1.11 x .32 =
12: .10 X .82 = 12: .81 x 43 =
13: D7 X 42 = 13: .73 X .61 =
14: .36 X b7 = 14: .82 x 1.03 =
15 .80 x .11 = 15: .05 x 1.17 =
16: .63 X .61 = 16: .17 x .34 =
17: .26 X .17 = 17: 1.14 x .50 =
18: .91 X .96 = 18: .47 x 1.04 =
19: .99 x .10 = 19: .57 x .50 =
20: .85 X 1.06 = 20: .80 X .63 =
21: .95 X .73 = 21: 1.05 X .72 =
22: .23 X .60 = 22: .03 X .31 =
23: .07 X 1.02 = 23: .10 x .97 =
24: .13 X .56 = 24: .33 X .69 =
25: .11 x .05 = 25: .68 X .82 =
019 7 September 2014 12
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Question 25

0: 2.9+ .8=3.62
1 11+4=
2: 2.0+1.0 =
302+ .7=
4: 1.7+ 4=
5 0.3+ 1.1=
6: 1.6 = .8 =
7. 23+1.0=
8 1.9+ 5=
9: 25+ 1.1 =
10: 2.6 +.7=
1: 3.3+1.1=
122 0+ 4=

13: .8+ .2 =
4: 1.3+1.1=
15: 3.5+ .2 =
16: 4.1 +1.2=
17: 5.0+ .5 =
18 5.1 +14=
19: 1.8+ .6 =
20 4.1 +1.2 =
21: 5.7+ .5 =
22: 24+ 4 =
23: .7+ .4 =
24: 1.3 +1.2 =

25: 1.6 —.7T =

25 marks]

0
1

2

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

Question 26

25 marks|
: 3.0+ 1.0 = 3.00
:1.8+1.2=
17+ 3=
:3.1+1.0=
:H7+1.0=
3.3+ 3=
21+9=
45+1.0=
25+ 4=
1.2+-11=
5.7+ 7=
5.9+.7T=
1.1+ 2=
H+.1=
9+ 8=
42+13 =
T+14=
29+ .7=
49+ 9=
28+1.1=
T7+13=
H+13=
1.8+ .5=
4.8+ 8=
33+.7T=

32+ 4=
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Question 27 |25 marks] Question 28 |25 marks]
0. 29+14=2.07 0: 2.0+ .1=20.00
: b.H+13= 1:49+13=
2. 4.6+ 4= 2. 4.3+ .8 =
339+ .6= 3:21+12=
4. 23+1.0= 4 53+.1=
5 1.5+.1= 5 3.1+.9=
6: 3.9+ .7 = 6: 1.6 .7 =
7. 1.8+ .6 = 73.9+11=
8 1.6 +.7= 8 1.0+.7=
9: 49+ 8= 9: 25 +12=
10: 29+1.1= 10: 3.3+ .3 =
im: 1.1 +1.1= 11: 49+ .5 =
12: 3.9+1.1= 12: 5.8+ .2 =
13: 3.6 +1.3= 13: 1.3+1.0=
14: 1.6 + .8 = 14: 26 +.9 =
15 4.7+ .9 = 15: 5.5 +1.1=
16: 4.7+1.2= 16: 5.5+ .3 =
17: 5.3+ .6 = 1 +1.1 =
18: 4412 = 18 1.8 +1.1=
19: 5.4+ .8 = 19: 2.8+ .1 =

20: 5.9+ .7 = 20: 4.8 +.1 =
21: .6+ .1 = 21: 2.2+ .8 =
22: 2.7 +14 = 22: 2.9 +13 =
23: 1.1 +1.1= 23 8+.1=
24: 2.0+ 4 = 24¢: 1.7 +1.0 =
25: .0+ 1.2= 25: 1.8 +.2 =
019 7 September 2014 14
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Question 29 |25 marks] Question 30 [25 marks]

0. .4+.1=4.00 0: 4.2+.7=6.00
t12+-1=_ 1: 5.2+1.0=
243+6=__ 2 14+11=
326+6=___ 3 1.4+ .6=
4. 0+-7=_ 4: 24+ 5=
500+3=__ 5 3.0+ 8=
6: 24+12=__ 6: 2.3+ .0 =
72.2+13=__ 7. 5.0+ 3=
8 0l1l+12=_ g 4+12=
9: 48+14=__ 9: 3.8 +.7T=
10:34+3=___ 10: .9+ 8=
1m:19+8=__ 1: 25+1.2=
12:54+14=_ 122 4+ 4=
13:43+3=_ 13: 2.3+ .8 =
4 2+6=_ 14: 1.9+1.0=
s 1ll+-1=_ 15: 5.9+ .8 =
6: 1.8+-6=___ 16: 5.1 +1.3 =
17 25+5=___ 17 4.3 +1.0=
1826+ 7= 18 4.3+ .7T=
19:13+-10=_ 19: 1.2+ .3 =
200 39+-6=___ 20: 3.4+ .4 =
20: 04 +11=_ 21: 4.7+ .5 =
22,41+10=___ 22: 1.1+ .1 =
23: 3.8 +13=___ 23: 1.1 +13 =
24: 3+ 3= 24: 3.5+ .3 =
25 42+11=_ 25: 2.0+ .4 =
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Question 31 |25 marks] Question 32 |25 marks]

0. 1.5+.9=1.66 0: 4.6 +.3=15.33
:25+13=___ 1 1.7+1.0=
2507+9=___ 22 1.1+10=
32+ 7= 3 0.0+1.1=
4 53+ .6= 4 1.0+ 9=
5 4+-14=__ 5 1.2+ .6 =
6: 42+9=__ 6: 4+13=
7216+9=__ 748+ 8=
8 56+3=_____ 8 23+1.1=
932+3=___ 9: 23 +14 =
10: 34+10=__ 10: 5.7+ .3 =
1m: 95+10=__ 1m: 41+ 1=
12219+ 4= 12: 43+ .7T=
13:39+4 = 13: 26 +1.3 =
4. 29+14=___ 14: 45+ .8 =
15:32+2=__ 15 3+ 4=
6 15+-2=__ 16: 2.5+ .2 =
17:31+10=__ 17 44+ 4 =
18 59+8=__ 18 43 +.9 =
19:11+-9=__ 19: 44+ .5 =
200 3.8+ 3=__ 20: 2.0 +.9 =
21: 14+ 1=_ 21: .3+ 1.3 =
22 b8+ 7= 22 4.7+ 1.1 =
23 48+ 7= 23: 4.2+ .3 =
2%: 1+12=__ 24: 5.3+ .0 =
25: 02+ 4=_ 25: 3.9 +1.1=
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Question 33 |25 marks] Question 34 |25 marks]

0: 2.35+ .11 = 21.3636 0: 1.20 <+ .58 = 2.0689
:340+34=__ 1: 2.75+1.01 =
2. 71M0+-79=____ 2. .28 + .44 =
32145+ 17=__ 3. 1.08 = 1.00 =
434 +31=__ 4: 491 + .11 =
5 063+20=__ 5 3.68 + .30 =
6: 0.08 - Hd=__ 6: 5.70 + .21 =
7234 +-44=__ 7. 210 + .78 =
8302+ 14=___ 8 0.60 + .25 =
9 A1+13=__ 9. .17+ .32 =
10: 59D+ 74 =__ 10: 2.76 = .55 =
1m: 93 +.7M1=__ 11: 487+ .84 =
122310+81=___ 12: .89 + .74 =
13: 131+ 13=_ 13: 3.05 + .54 =
4: 273+ 15=____ 14: 3.97+ .33 =
15: 276+ 05=____ 15: 4.70 = .54 =
16: 5.07+68=___ 16: 4.25 + .04 =
17 178+ 23=__ 17: 241 + .80 =
18 167+ 77T=____ 18: 2.64 + .85 =
19: 445+ 36=__ 19: 3.65 +1.04 =
20 493+ 38=__ 20: 4.87 + .77 =
21: 209+ 17=__ 21: 3.47 =+ .03 =
22: 210+ 18 = 22: .73+ .31 =
23: 280 +104=__ 23: 1.19 + .12 =
24: 3.02+-07T= 24: 3.91 = .75 =
25: 3.00+-01=__ 25: 5.21 + .06 =
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Question 35 |25 marks] Question 36 |25 marks]

0: 5.06 + .63 = 8.0317 0: 3.16 = .90 = 3.5111
126 +02=_ 1. .D3 + 48 =
22281 +100= 2. 215+ 31 =
32483+ "1M0=____ 3 5.80 =+ 42 =
4: 260 +62=__ 4: 1.11 = .98 =
543+ 3= 5 3.45 + .15 =
6: D78+ 42=___ 6: 2.29 + .04 =
7.320+-90=____ 7. 1.64 = .94 =
8 458+ 87T =__ 8: 0.00 = .19 =
9 158+ 5H57=___ 9: 2.60 + .31 =
0 112+ 62=__ 10: 4.52+1.02 =
1m: 1.04+28=___ 11: 1.35 + .22 =
12: 254+ 28=_ 12: 5.54 +1.04 =
13:413+51=__ 13: 3.99 = .35 =
14: 228+ 82=__ 14: .35+ .27 =
15: .66 +-.36=___ 15: 1.47 =+ 98 =
6: 211+ 35=____ 16: 5.58 + .25 =
1m 24+35=___ 17: 5.87 + .24 =
18 0.02+51=__ 18: 1.23 + .85 =
19: 495+ 26=__ 19: 4.73 = 91 =
20 .08 - 69=___ 20: .22 + .60 =
20: 27 +.72=_ 21: 1.27 = .62 =
22 415+-01=__ 22: .62+ .36 =
23: 201 +36=__ 23: .15+ .96 =
24: 288 +21=_ 24: 4.40 =+ .37 =
25: 357+ .74 =__ 25: 2.62 + .32 =

019 7 September 2014 18



Dec-MulDiv-L1 Setl!

Question 37 |25 marks] Question 38 |25 marks]

0: 5.11 +.70 = 7.3000 0: 4.46 + .84 = 5.3095
:221+-92=___ 1: 1.b5+ .22 =
2115+ 48=_ 2. 1.21 + .84 =
32147+ 04 = 3 522+ .44 =
4 516+103=__ 4 135+ .64 =
5040 +80=__ 5 1.05 + .42 =
6: .66 -1.03=___ 6: .64+ .10 =
7.500+-79=____ 7. .09 =+ .06 =
8 408+29=____ 8: H5.95+ .04 =
9136 +93=__ 9: 3.74 + .70 =
10: 397 +=57T=____ 10: 3.63 + 43 =
1: 5.0/ +50=__ 11: 498 + .84 =
122 158+ 97 = 12: 3.42 + .55 =
13: 345+ 14=_ 13: 3.88 = .86 =
14: 275 +39=___ 14: 5.53 + .02 =
5.8 +bd=__ 15: 2.48 = .97 =
6: 19+.06=__ 16: 3.82 +1.04 =
17 1.04+-78=_ 17: 3.11 =+ 98 =
18 5.06+.08=____ 18: 3.77+ .71 =
19293+ 10=___ 19: 4.14 + 84 =
20 287+ 38=___ 20: 1.94 <+ .66 =
21: 6+-.10=_ 21: .84 + .21 =
22 220+ 84 =__ 22: 4.24 + 83 =
23: 443+ 36=__ 23: 3.39 + .22 =
24: 103 +01=_ 24: 2.30 = .89 =
25: 497+ 54 =__ 25: 1.30 <+ .55 =
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Question 39 |25 marks] Question 40 [25 marks]

0: .15+ .46 = .3260 0: .49 =+ .19 = 2.5789
:434+-38=__ 1: 1.03 + .98 =
22218+ =__ 2: 3.89 = .51 =
322+ =_ 3 .11+1.04 =
4 42+-46=_ 4: 5.43 + .06 =
5 .26+-050=___ 5 2.88 + .58 =
6: D.O7T+8=___ 6: 3.00 = .45 =
307+ 17T=___ 7. 414 + 24 =
8 203+9=____ 8 .70+ .83 =
9:219+82=___ 9: 3.07 + .59 =
10: 130+ 62=___ 10: 419+ .51 =
m: 98 +-65=___ 11: 545 + 42 =
122372+ 10=___ 12: 440 + .75 =
13:504+84=___ 13: 1.16 + .32 =
14: 280+ 87T =__ 14: 1.60 + .13 =
15: 416+ 89=__ 15: 5.9 =+ .63 =
16: 287 +.75=____ 16: 3.13 +1.02 =
17: 479+ 26=__ 17: 5.22 + .09 =
18 104+ 78=___ 18: 5.40 =+ .32 =
190 83 +.06=___ 19: 3.77 =+ .07 =
200 1.05+37T=__ 20: .53 +1.04 =
21: 289 + 27=__ 21: 4.17 = 87 =
22: .81 + 88 =_ 22: 2,97+ 1.00 =
23: D78 +83=___ 23: 5.70 + .45 =
24: 187+ 8 =__ 24: 2.34 +1.00 =
25: 100+ 47T=__ 25: 1.72 + .46 =
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Question 41

25 marks]

Question 42

25 marks|

0: 7.24 + .18 = 40.2222 0: 9.51 +.73 = 13.0273
1: 5.26 = .54 = 1 451+ .12 =

2. 7.99 + .74 = 2: 6.65 + .78 =

3. 14.55 + .99 = 3 5.05+ .81 =

4. 14.91 + 91 = 4 12,93+ .90 =
5 3.66 + .22 = 5 11.63 + .36 =
6: 7.60 + .22 = 6: 14.24 +1.02 =
7. .13+ .56 = 7. 15.32 %+ .76 =
8 12.57 + 48 = 8: 14.25 + .38 =
9: 13.20 =+ .26 = 9: 2.35 + .20 =
10: 11.67 + .47 = 10: 11.25+.79 =
11: 6.25 +.04 = 11: 5.15 + 42 =
12: 2.74 + .68 = 12: 13.43 + .13 =
13: 2.37+1.03 = 13: 10.30 =+ .81 =
14: 2.38 + A7 = 14: 4.42 + 44 =
15: 6.84 = .66 = 15: 13.36 + .52 =
16: 9.85 = 48 = 16: 10.73 + .58 =
17: 8.76 = .27 = 17: .24 + A7 =

18: .23 + .10 = 18: 3.24 + 48 =
19: 2.33 = .24 = 19: .16 + .35 =
20: 9.36 = .05 = 20: 13.37 + .87 =
21: 3.97 + .22 = 21: 10.12 + .84 =
22: 10.24 + .77 = 22: 9.78 + .24 =
23 7.17+1.00 = 23: 6.44 =+ .04 =
24: .07 + .84 = 24: 13.98 +1.05 =
25: 8.38 + .27 = 25: .47 +1.06 =

019 7 September 2014 21



Dec-MulDiv-L1

Setl

Question 43 |25 marks] Question 44 |25 marks]
0: 11.95 + .69 = 17.3188 0: 11.42 + .64 = 17.8437
1: 1.06 = .51 = 1: 15.07+ .14 =
2. 744 + .62 = 2: 14.69 =+ .03 =
3 13.75 + .29 = 3211+ .30 =
4: 13.68 + .38 = 4 10.30 = .65 =
5 13.97 + .84 = 5 1.62 + .61 =
6: 13.95 +1.07 = 6: 11.48 + .94 =
7. 10.68 + .37 = 7. 3.85 + .02 =
8 2.10 + .50 = 8 6.89 +1.02 =
9: 2.80 + .28 = 9: 11.75 + .21 =

10: .68 + .23 = 10: 4.13 + .06 =
11: 5.39 + .69 = 11: 9.42 + 87 =
12: 9.70 = 1.10 = 12: 8.27 =+ 97 =
13: 13.98 +1.03 = 13: 12,16 + .32 =
14: 1.60 + .50 = 14: 10.62 =+ .94 =
15: 3.90 = .24 = 15: 1.60 = .56 =
16: 13.29 + .76 = 16: 13.49 + .52 =
17: 5.06 = .73 = 17: 14.38 + .58 =
18: 1.07 + .94 = 18: 1.33 + .52 =
19: 2.52 =+ .62 = 19: 12.88 + .57 =
20: 13.17 + .99 = 20: 3.11 +1.05 =
21: .31 + .46 = 21: .11 + .31 =
22: .63 +1.11 = 22: .60 = .61 =
23: 12.21 + .49 = 23: 11.64 + .36 =
24: 1.33 + .04 = 24: 6.39 =+ .21 =
25: 8.22 + .66 = 25: 71.73 + .74 =
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Question 45 |25 marks] Question 46 |25 marks]
0: 7.36 + .87 = 8.4597 0: 4.63 + .39 = 11.8717
1 6.18 .70 = 1: 4.62 <+ .93 =
2: 13.60 = .61 = 2: 6.82 + .20 =
3 .41+ .01 = 3. 12.80 + .60 =
4 1.17+1.10 = 4 711+ .33 =
5 7.79 + .98 = 5 6.04 .96 =
6: 7.40 + .25 = 6: 13.54 + .65 =
7. 10.65 + .84 = 7. 5.87+ .16 =
8 31 =+.74= 8 8.11 + .62 =
9: 5.81 + .39 = 9: 5.69 = .51 =

10: 8.38 = .95 = 10: 13.50 + .06 =
11: 3.83 +.72 = 11: 15.19+1.04 =
12: 9.19 + .04 = 12: 14.78 + 41 =
13: 6.17 + .07 = 13: .82+ .15 =
14: 18+ .08 = 14: 12.44 = 55 =
15: 2.45 + .09 = 15: 12.26 + .67 =
16: 5.82+ .95 = 16: 9.13 + .80 =
17: 6.42 + 87 = 17: 7.73 + .64 =
18: 3.68 = .31 = 18: 10.19 + .89 =
19: 8.19 = .29 = 19: 12.57 + .66 =
20: 10.96 + .11 = 20: 4.48 =+ .46 =
21: 13.77 + .46 = 21: 2.05 +1.01 =
22: 8.73 + .54 = 22: 9.98 + .24 =
23: 10.21 + .94 = 23: 13.58 + .18 =
24: 9.29 + 17 = 24: 13.14 + .71 =
25: 4.87 =+ .61 = 25: 4.06 = 1.01 =
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Question 47 |25 marks] Question 48 [25 marks]

0: 9.49 = .77 = 12.3246 0: 3.44 =+ .28 = 12.2857
6177 =___ 1: 5.03 +1.06 =
21084 +105=__ 2. 9.87 + .33 =
323627T+68=__ 3 3.76 + .32 =
4: 1242 +-81=__ 4 .88+ .09 =

5 1.76+82=__ 50 1.21 + .44 =
6: 291 +.716=____ 6: 1.99 + 87 =
72615+94=___ 7. 10.14 + .62 =
8 12714 +107T=__ 8: 11.24 + 14 =
9. 847+ 44 =__ 9: 11.72 + .40 =
10: 523+ 28 =_ 10: 3.27 + .61 =
11: 803 +93=___ 11: 13.69 =+ .29 =
12: 1134 +.78 = 12: 237+ .40 =
13: 937+ 74 = 13: 272+ 45 =
14: 287 +106=__ 14: 15.14 + .32 =
5:431+-111=__ 15: 242+ 91 =
16: D46+ 14 =__ 16: 15.27 +1.07 =
17 452+-50=____ 17: 15.17 + .36 =
18 631 +-76=____ 18: 11.39 + .67 =
19 1377+ 13=___ 19: 8.75 =+ .98 =
20. 1025 +.92=__ 20: 6.20 = .51 =
21: 598+ 62=___ 21: 5.18 + .71 =
22 930 +106=__ 22: 7.19 = .36 =
23 61 +31=_ 23: 9.13 + .50 =
24: 664 +-61=___ 24: 8.93 + .23 =
25: 145+ 84 =__ 25: 7.03 + .38 =

019 7 September 2014 24



